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Derivadas

1.y = 5x>3x°+3x>-2

3. y= 3y + 24X + >
X

5.y = 4 senx - 3 cosX

7.y=4C+2¢C - + 4

9.y = cos(3x)

11. y = sen (3x°-2x)
13. y = sen*(2x%)
15. y = 3 sen’(2x-3)
17. y = cos (senx)

19. y
21. y
23. y=( 2 x - 3|
25. y
27. y

29. y= «/sen3X+ (x-1)°
31. y=—

33. y=

37. y=

39. y=.|—

41. y=3/3x?- senx
43. y=1n (x*-3x)
45. y=1log, (3x*)
47. y=2*

49. y= 3

51. y=3 g™

53. y=3 tg*X

55. y=x* .lnx
57. y=x' . ¥

2.y = X +2x3+x-4

4. y=J3 .- p.x+ 3

6. y=2«/§+§+ x°

8. y:%.cosx- 3 /x

10.
12.
14.
16.
18.

20.
22.
24,
26.
28.
30.

32.
34.
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38. y=

40.
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y = cos’(xX)

y = cossz)

y = cos"(3x%)

y = €0s°(3x%)

y = cos’(sen(3x))

y=1n(3x-1)
y=Inyx-2
y=e*

y: ex2—2x
y=tg(x’)
y=/e™
y=(x-1).(x-1)
y=¢° .CoSX
y= "  senx
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65.

67.

y=Ing¢
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79.
81.

_3

@enXx o
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X -2+ 3x-2
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y=arctg(x*)
y=In(secx)
y=arcsenx . g

y=1n(arctg(5x))
y= "5 arctg’ (senx)
_ arcsen(3x-2)
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85.
87.

89.

91.

93.

95.
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97. y
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99.
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COSX

X
nx)>

_3/ sen’(€")

- arctg(cosx)
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arctge* . cosx

I'n(x*-x)
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66.

68.

70.
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84. y=

86.
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y=( sen(e”) | . cosx
y=arcsen x*
y=arctg(l nx)

y= arctg(e*)

y= arctg./x’
y= 3arctg( x2)
_senXx - th
\4x-3
y=(senx)”

y: 4arctg(ln><)

e3x 9"2
SenX g
@ tg/x 0

Y= cos% sen(l nx) 5

y=cos (4¢e*) . In¢—=
e

| n(cosx)

SCOSX

y:

y= (tg(eX )+ X )X

_ I'n4cosx

sen ( ecosx)

getgx 0
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SOLUCIONES

Todas las soluciones se dan sin simplificar

. ye=30x® - 15x* + 9x%? 2. yl=-4x° -6x*+1
1 3
L yeE=300 + — - — 4. ye=343 . %% -p
Vx o 8
1 2
. y¢=4cosx + 3senx 6. y&=— - = + 5y
’ TR e
3
. Y815y 8. yt=-P
yé=15x yt= > > /x
. yt&=-3sen(3x) 10. y¢=-2coq x*) . sen(x*) . 3x?
y@=cos(3x?-2X) . (6x-2) 12. y¢=-sen( x?) . 2x
ye= 3 sen?(2x?) . cos(2x?) . 4x 14. yt=4c0s(3x') . (-sen@Bx¢)) . 12
y¢=6 sen(2x -3) . cos(2x-3) . 2 16. y¢=5cos*(3x?) . (-sen(3x?)) . 6x
y¢= - sen(senx) . cosx 18. y¢= 2 cos(sen3x) . (-sen(sen3x)) . cos3x .
- _ 2 2
Y= 2 COSX . Senx 20. yi= 2coq x°) . sen( x?) . 2x
3 /cos” x 3 3/cos* ()
- 2_ -
yie 23 2. yoe 2.0¢-30 2x-3
2 ¢ - 3x 3 3/(x2-3x)’
el 2 senx CcosX
ye=3(2Jx-3 | .¢c—=-33F 24 yt=———
( )2 g Jx [} 3 3/sen
3 cos3x 3 - CoOX
= ——— 26. yi=—>__“">
y ?/sen* (3X) Y 2 /3x- senx
ye=3 (3, - T2 |- §6x-—g
21-X g
_ 3gen?x cosx + 3(x-1)° [22 tu
ye 3 28 y¢—cos( 3X2'5X)-
2 «/sen3X + (x-1)
ye=-3cos?| x2-3Vx ). sen| x2-3Jx ). x-—_ 9
( ) ( ) e 2\/;21
1 5
== 32. y=-=
y 5 y 7
3_
yo= 4x -3 34 yo=2x + >
4 Ve
4 _ 2 3_
= 2(x'-3x)" . (4x>-3) 36. yi= 3(x 1)°.3x - 3(x-1)°
3 Bx)
3 X 3X
2 2 . -
yo= 2 (X1 2x-2X 38. yi= 2+/3x
(x¥-1) x*



1 3 A/3X - X j_
39. yo= —— . — 40. Y= 24/3X
5 3 X 3X
X
4. yo= —OX OO 1. ye= S
33/(3x%- senx f 3x-1
1
43, ye= 23 44, yo= 2yX-2
X2 - 3x X-2
6 X 2
45, yb= ———— 46. yt=¢e< . 2X
e e
47, yo= 25 .1 n2 48. yt=g®% . (2x-2)
49. y€=3*"*  cosx .| n3 50. y¢= 3)(23
cos’ ()
51. ye=3 e . (2x-3) 52, yo= _& X
2 eCOSX
_ 6 tgx _ 2
53. yt= o X 54. y=2x (x-1) + (x*-1)
2
55. ye=2x .lnx + X? 56. yi= e’ 2X cosX - ¢ Senx
57. ye=4x® . & + ¥ & 58. yb= ¥ . (4x°-6X) sen x + ¢ cosx
1
2/
2X X
59. y¢=— . & + | nx? *"* cosx 60. y&= —Y=—
Y S nx" e Y (Inﬁ)z
61, yoog BX3 8 2x(x2+1) - (x¥-3)2x
TRy T (erry
62. y¢= 1 g =™ + | nx . @ =™ (2x- CoSX)
X
63. yt=(2cos3x (-sen3x) 3 - 3sen?x cosX ) . e° + (cos?3X - sen’X) & 3%
2X
. — (X-2) - I nd 3%
_L&lnéd 0
4. ye=2 7 = oy
2 X-2)
X 1 0 X
13X-|nx3X|n3 Eéaee+—9(x2-senx)-(e+Inx)(2x-cosx)
65. yt= X 66. yt=
(3) (x2-senx )’
67. yi= e COSX g -3 sen X 68. yi= 1  COX (x-l)z- senx
Senx (e") sen x (x-1)

x-1



69.
Y (2 x-1)
70. y¢=2 ( sen(e¥) ) cos(e™) . * 3 cox - (sen( 3*))2 senx
2X
71. yt= 72.
Y& ye= 2 — ﬁx
Ssenx 1
> -
73. ye= S5 % 74, yo= X
SeC X 1+ (Inx)
COSX 3X
75. yt= € - arcsenx ™" sen x 76. yﬂ::e—?’2
1-x° 1+ ()
3 2 - (x+1
32 € tgx & 6x € ((X) Je
77. ye= = cos’ X 78. yt= e
tox (esxz)2 \/ aex+1 o
2
3x°
79. yt= 1 > : 80. yt= 2%
arctg(5x) 1+ (5x) 1+ 3
81. y¢=10 arctg(senx) & 82. yt= 32et9(:) _2x
SenZX 1+ X4
% - arcsen (3x-2) 2x
1-(3x-2
g3, yo= WL132)
X
gecosx- 12 O«/4x - (senx - tgx)L
84. yt=& Cos X g 4x-3
4x-3
85. yﬂ:g cosX . I nx+ 2% 9 een
X g
86. %exln(senx)+x COX °( X)*
3_
87.y g?,x 1) Incosx - wg (cosx )
COSX a
1
88. yt=gcainy X ___ |n4g
Y 1+ (I nx )
1 & X+2 o x2-2X (X+ 2
89. yt= —— .3 g . , E )
X+2 ¢ X g X

(12x3-4x+3) (2x-1) - Bx*-2X+3x-2) . 2
=

n3
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90. yqzzgezxmx%e eaxx 9
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91. y¢= 10E3en Z . | N10
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(3x

e
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tg+/x 0 codA/x
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2./x

- cosx )
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yd:-sené

-senx | nnx +

sen(lnx) 5

m-ogd

COSX O cosx
- X

sen’(I nx)

(nxYy - x°°sx3(lnx)2%

93. yi=
y d
04.

yt=2 cos(4¢e’) . (-sen(4e*) . 4 ¢

| n(cosx) ~ Senx
e —

95. y= — = COSX

nx)>°

atgx 0
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¥

COsx
.5 -
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=+ cos’(4e") = &8
1] tgx

g " 5% (-senx) I n5

| n(cosx) ’
2 \/e

1

5COSX
96.

yt=

( 5CO

=

2sen(e’) . cos(g’) . € . arctg(cosx) - sen’(€") . ————
1+ cos

33 —Senz(ex) |
\/ arctg(cos x)
-sen(e) & x + cog(e)

\/cos(ex).x

97. yt=

) @ - JJcos(e’) .x .

arctg’(cosx)

tgx 1

1
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cos’ X

X

ge e
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é

99.
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e
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5
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